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Lbidnegbdol 3men:

d3nfmezsbm dmbafnemggdm

s8m3b380L 38mbLBnLsl gonbm3m gsbbm3ogo:

dmfob babamdmazmbds d7omagbL 5 (bym) sbdmmbmdnyom Lbaamb.

Bab@nb dadbndsafm Jumooms yados 100 dnoma

mnomgyenn admEsbol dadbndsmmafma dnme dmpadnmns dgbedsedal s8mesbadn Bafmxaabas
30gegdo

3abmbadnb egpfmpgenby sppomgdma esshafmaom ;d3nbo g3afmn, Labamo s bimema.
3abybgdn 3brs Ronfpfmmb dbmemme 3abpbgdol apmgiomde Gmpgdym dgbadadnlb
Axfoddn.

Jabimbo, Mmdgmmog dgbadaednbo px Mol gafmgm odbgde dgdebonemn, oft dgmabicegda.
Jalimgbadn ofhafmam goafmizaznm

dodnafo Mysdenob Bmenmbdaddo biagdomdadmonmn ymaaoanabdgdo gesbfmgom
a7pnedmae doponom bnpneggdob gabbm8nmgdgdn, bawag sfnb dgbadmydgamn
d9%y3zndigom 3abimbadnb gagyds s maegom oidzgbn jomadn efmmob s8mfnMznbomebag.
Jabpbgdol egafmpgmn s ogmfmogomo Gobdgonl aafgaomn dgammaegds §afob
eabifmamgdnbal.

anbmfmagdom GamdaBgdgdl!
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bdnegbéab jmon:

anboinmo gmblBab@gdn, ghognmadn, gmmdymado s gobBmengdgda

gotinl nbnzaMmbaennfmo mbLdsbBs

R =8.3145 J-K-"-mol”!

LbiBsbmafmBnmmn §bags

p7 =1 bar=10° Pa = 750 mmHg

s@8mbagfpao §bgze

1 atm = 1.013x10° Pa = 760 mmHg

gamboybob dgsmnb By fomGEoamn

273.15K

1 8abinb s@Fmbnfmo ghogneon (8.0.9.)

1.661 x 10727 33

dadaazeen snsdednfmo  3Mmaabo  a@gsmyfo

aotinbsmgnl

pV'"G = const

njammyfin gabnl  8ngf  dabfmmagdnmn dndemds

soosdsdym Immpgbdn

W=nCv(Tz- 1)

dobagabn gByfMmannl elmin@gdmogds Bgddgmadnmaty

I T) = T + CATi—- T)

LiBabmamBnm ¥ndlbnb gbafMmanals dmfnls

Jogdofmn  dmemf obmdefnm @ nbmdmfnm
;mdmGgzsomdal ImMmab neogsemymn gabigdnbamzal C:=Cv+R
xodlol 9bafans G=H-TS
Jogdnfin fmbBabfmfmmbnl 3mBLBabBabas (1]

K = exp —M;
RT

maadeonl yedlbob  gbgfMaonl mosdmingdnmmads

JmbagbdMmagnabs wa fbBgzaty

a =c/ (1 mol/L) blBafmnob bydb@ebgnidnbaoznb, a=p /(1
bar) gatbgdnbamznb

i a
AG =AG" + RT In—==
amn,

xobdlbol  96gfMmgonl  pImomgds emdn ghognom
dmpgnmmmasdn bob@gdnbamznl, Mmdgmag dmogezl mMm
dodnnf fMgedensl 1 s 2 dgbadsdobn  Mgsdaonl
Lahdsfmaadoom ri s 2

AG,
22 = AGH +AGr
At 2

afmabonliob
dnednanbomanl

gubBmegds fMasdiaonl Linfdefo

k = A exp(- E/RT)

3msb 30l aBmn@adnmads [h = 6.626 x 1073* a+ pa

E=hv=hc/4

Jodnols 54-9 bagfosdmfmabe, mmoddnaabongob badafmagmmb Bagfmogde anbeob faamadob dybambgan Enfo

3



J@3Ja3db60Jsa0L 3IGHOMOITMOOL BbOHO®()
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LEnEbBNb gmeen:

Me
(" anyiNH,anyiNH; Me-Si-Me
Me
( amide NH,NH, ) (alkyINH,NHy ) | e
G aryl OH ) alkyl OH )
i j\ Ty il T '\If' Y : H g 1
.H H
R0 H i S | |
H _'_H )—c-—H —C-H
0 Y I I
Y=NOX|Y=C,ON
. RJLH J e A A s P J "'
| | | | | I | I | | | 1
12 1 10 9 8 7 6 5 4 3 2 1 0
Chemical shift (5) ppm
hn3oya 856y30madnbL 3mM6LAHI6AH)d0
I I | |
g R ™ o
H H H H
3708nbamyMo 3n8nbamyMn gognbammymn
’|=0Hz 3= 2-15Hz 3 = 6-8 Hz
(dmBmbm3nytn (conabhaMambm3gen
Byomdopgdn) Byomdamgyon)
[ H
x—rl_:—(l:—v \,c:cf ‘c:c{
H H H H / H
anponbagmnmn gob thMablb
=2-12 Hz =712 Hz I =12-18 Hz
(©o8m3nEYdYmne
mMBabbogs 3gmbgbg)
H N H
N
c—C \C:C\F/\H .'/I‘"\
/ H /Y . ZH
a00nbammyMmo amomyMmo %) = 6-9 Hz (mfinm)
‘1=0.5-3Hz N=3-11Hz i) = 1-3 Hz (Byho)
(madmznmgdamng B = 0=1 Hz (30Ma)
m&Babboge 3gmbgba)
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bEneabBNb Jmeen:

c=0 (czc ) ( c—c )
aldehyde
ketone @

| I [ [ | I | | | | I I
220 200 180 160 140 120 100 80 60 40 20 O

Chemical shift (3) ppm
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bEneabBNb Jmeen:

03MB6S 1. MIMMBI d3060 IWIFI6D0 (16%)

wagamabs | 1 2 3 bmem

Jams 10 6 5 21

amadabdn X 93-3 xanmob gmadgbdne. egesBofol dafmddn o8 gemgdgbdols da8pzgmmbds
dgesfmgbnm  Bamammns, doafMmed bysmoe boboo 8nbo gedmymoys ©a Gomgds - Moo,
ambabndbagns, Mmd dbmommomdn gl d-BgBemn ymzgemmonmee dbmenme 15-20 Gmbo
nfamdmgds, Mol gaBmp dabamBg Gobn yabin mdMmmbg danmogas.

mmammg §obo, Jmgdgbdn X obafmampddo SnBafgzal babnmos gazfmpgmadmmo, bawmag ngo
sbagamgdlb nmbgdl: Ca*, Y¥, Fe®'. omdps, asbawgds asblagnmMgdom odznsmn BnbBgMmamadn,
mmdmadng dadamodoeasb domemee X-b dgngaslb; 280l gfo-gMon dagamnons Gnbgfmamn A,
mmdmol Bmgsen sm®dyms dgbsdmadgmns d98cegabanmae Bsnfafmb B-25i0:. s8333Mn0
dobgfmommol  4ogegz  gfon Gegoemmooine  @ymboyodmfo  Sobgfmemma €, mmdgonng
Afnbdeminemadob, jafmdme 30 endnemadnl baboom sfmbgdmbl s mmdgmdag gemadabdon X-
obs s mbamfol dmenmfn mebagafemdas, n(X):n(P)=1:1. mjlocen B sfmals cngonfin gybizboen,
mmdqgmog fuysmdn 3Mmoddnggmoee pbbbsmns, omdps jmbagbdfmofmgdmem 8a0370006 @s
Gadagdmeb Mmgsdansdn dgeol. o8 mdbowdn gemgdabdin X-ab 256aznl Mogbsn C-L gdobiggse.
amgdabdn X-ob dafmomgdn seegomae Inemmonboe)da.

B-bu dofmngmBgegedn gobbboom (Moadgne 1) @s domgdmomo bbBsfmol Bymo smfodmgdoom
fafmdmnddbade pomgfm sMnbdomdnemadn D. D Bagfhoob abm3mmdsbmmdn gobbbome @a
goadmifmobBemmadom Gnnmgds dgdbasdoemedn E, MmBgmog b3nMmBb of dangesl s dgogasl
Inemmqboeob nfmo ab Madegbndy ¥ansb. oy D dafmogmols fysmbbbsmb angdadnds Badfmondob
Jnfmmgsmdmbadnol 1 M bbbsfn (Mgedgns 2), aebmoengdgds bagfMmown F, Mmdgmdng X
amadabdnbe e g0badecenl dmeyfn cwbamafomds, n(X):n(0), Gmeos 1:4. oy blbsfMdn
gobzagfmdmdo ba@Mmogdnb dnMmmzamdmbadnol absdadal, bagfmon F ganbbibgds (Mgadeos 3).
batymenmmee dnmgdanemn bbbsfmnb 45 °C-Bg amfmodmgdno Gonmgdas yagfm yMhobBaminemadn,
Jafdmee 40 eodnemodn G, Mmdgmmap 250-700 °C-Bg gosbamadobab (Masdans 4), 30Maasl mazol
Lagfmom dsbiols 23.406%-b.

domamm Faddafmadnfmoty nhuymm Jommfinen Z, Mmdgmbag D-b 8baesbo dgmaibommmbds adsl,
fMosdeoadn dacenl X a@emmmsb, Mol dyeagems dnomads xdo dobafmnma Bogmogfmadgdo H s
I {Maadiangdn S @s 6). | Bogongmadob amognmmmasbn nxymgeo Gmgdnmns bab. 1-B7. H Bagfmool
LBfmd@Emms dgngaslh JaBombl X** ma s6ombl, Mmbgmmdog gmydibdn X-abs ©s Jeomfmnb
dmmnfmo msbogamemds (n(X):n(Cl)) Bmens 1:2.

am926&n X-nb dabinfmo Goenn Bagfmogddn D, E, H:

'Em;jﬁumn D TE TH

w(X), % 16.21 18.66 42.49
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bEneabBNb Jmeen:

Bab. 1. 1 Bagfornb gfmorgmmmysbo gxhoon

1.1. aodngyfmgom A-l s Z ymfmdnmgdn.

Sﬂzslzn? 5(:103 S'I:Pﬂ.; - 2H,0 S::EI; ; THIU SC(UH]CI; ¢ ﬁHIU
A B C D E
Sc(OH)CO; | Nas[Sc(C05)4] - 2H,0 Sc;Clyy ScCl ScCly
F G H I z

mnomm Bagfon 1 J. xs8do - 10 4.

1.2.  d3scegnbyo 1-6 Myadngdnb gomabadmydnmo Gmenmdgon.

1) Sc;0; + 6HCl = 25¢Cl; + 3H,0;

2) 5cCls + 3NaHCO: = Sc{OH)COs + 3NaCl + H;0 + 2C0;;

3) Sc(OH)CO; + 5NaHCO: > Nas[Sc(COs)s)-2H;0 + 2C0; + H;0
4) 2Nas[Sc(COs)a)-2H;0 = 5Na,CO; + Sc;0; + 4H;0 + 3C0;

5) 45¢Cl; + 35¢ = S¢;Chy;

6) 5cCls + 25¢ < 35cCl;

owonm bfmMmae 8aeajborn gamabadMmadymn Myadena 1 4.
Lfmface daeaqgboman, degfMad sMalbfmmae gamabadMmadnmn Mgsdians - 0.5 4.

wxafdo-64.
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bEneabBNb Jmeen:

1.3. H Bagfmonol dgbobgd gbméommos, Mmd gemgdgbda X bmmme g06ademnl s@dmdgdlb
130380fMEgds. 58 Bsgfmmda sfals byoin 0-X d8s, Mmdgmos bogfhdgg 2.175 A-sb 2.208 A-
dmge o mfn O-X d8s, MmBmaob begMdyges 2.07 A 3jsmaobpo o8 Bapfmoob

LidmdGImImo gmmdyme.

5 dame

dndnnl 54-7 bagfmoadmmnbm menod3naseabogal bagafmomageaml Bagfmydn anbeol faamadal dgbambgan Enfn



bEneabBNb Jmeen:

09MBA6O 2. I®MA0 ©o 30LN 6IGNIIBN: 3GNLOITDIGHO LOGIIOIGY,
633@0N0Jd0 ©d 3M33@3JbIdN (22%)

oagamads | 1 2 3 4 5 B 7 8 9 10 11 Limem

Jama 2 3 1 4 3 6 3 3 4 < 7 40

) Jmmdn, Mmamfgy Badsmn.

dmmidn faMmdmddbol bbgnmpegbdmofmgdmm (bec) gndxnfm shobdomnm LbdFnddafmab. 8obo
Ln833fMogge 7.14 g/LE°.

2.1, AJfmmdol s@mbgdo fomdmaemanbm beygfmmadnb baboo s pababgom s@maqdol asbmaggds

bbonmeabdmamadamn 3ndamo Mmobdemmamo LEMYIGMoL aMmogymmzsb JxMyedo.
godmozamgo s@magdol Memeabmba ghomgyomm3zsb nyfmyedn.

1 fams

athymBgdol Mamegbmds gMmoynmm3sb gxfmgedn: 2

1 e
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bidneabdnb smoen:

2.2, godmomzgamyo ymobdarmmMmo 8gbMob dsMadn@mo (3ndob a3aMmeab bogfMdy) 38-8n.

m N.E-L';.L'JEJU "M

P=?= N,n,l‘EI3

- EINJTEM a = 2.8920 - 10~®d = 289.20 38
LY.t

3 Jyams

sfaligdmol gomgdgbdn Jmmdnl 28 abm@Emdn delimfmn Mopgbzgdom 42-@ab 67-0b haozmnm. dom
dmfob yzgmsby bEsdomafMmo obmBEm3gdns: “°Cr, **Cr, **Cr, “*Cr. Lobbeolb Foorgmn
Axfgegdal  Omenopdobs s Babolb  gablebmafol  afo-gfmoin Ggovmcen dmogasl
sfsbBednmyfmn nbm@m3ob, °'Cr-ob 06®Mazabnm dgy3sbal mMaabnbddn. *'Cr (Ar = 50.945)

mfmasbobddo gefMeanddbads amad@&mmbnl medafmom (Bndaeagbom). S1er-ab Badndob, Mmdennl
dsbs m = 2.00000 3, sd&n3mds A = 6.84701 - 10 dg39Mgmn.

2.3. xfiofmgo gogddmmbolb  modafol  (Bn@ogpdol) domoznmo  Mjsdens.  cwnoimgyom
Brymnel Gnpmomagom Mmgmfm dabmfmo Mogban, sbazg sdmdnfmo bmdgmn.

2lCr+e” = 3W4 v

2.4. goBmomzamao ' Cr-ab BsbgzMmoe @admal 3gMomen basmgdda.

m
n= H = £0.045 = 0,039258 dmemo
1 Jame
N(0) = 0.039258 - N, = 2.3641 - 10%2
1 James
i A(0) 6.84701-10" T
~ N(0) 2.3641-1022 7
In2
ty, = nT = 2.39330 - 1058 = 664.80 bon
2 Jaws
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LEnEIbGNL gmeen:

39MmEbmal, bL3nmgbdoby s JMmanl 358333mn 1.500 3 336sbmMdALELE @ss8bacgl 500 LA*
blbsfn, MmBgamng dgnpesl Bgbsdsdol nmbadl: Ag*, Cu®* s Cr3*. o8 blbsmab fon gomgeo
d70@aa 3db3aMmndgbddn gedmaoybgls:

blbafml Bmagngl gofmebomobs s b3nmabdol ambgdo, bmenm Jfmbol ombn @agabagl @s
aamany3abgl Jfmda@dnb ombdo fysendamnb dgmmdboeol badyammpdnom dn@g afmgdo. dnmydnemn
blbafmn 958533 ©s @apdadal Mminba(ll)-als Bamomol 25 LE* 0.100 M fysmblbbamn, Madag
godmofzns JmmBsdols nmbal abgs AGmma(Il)-ols nmbBIn gealizmes, bmenm fMinba(ll)-al agebaze
fmgnba(lll)-dn. dofrdn fMinballl) asndndms KMnO4z-olb 0.0200 M bbbsfooy g33n3ammabdmbob
fom@nmadg. 58 ommb manbafys 17.20 b8* jaemomnb 3gMmBsbasbadal Lsbmam@Eymn blbasfmn.

2.5. afiamgo dg8ceaan dfmmaladol sBbsbzamn gomebsdfmadnmo ombBafo Emenmdgdo:
a) 4fnmd{lll)-ob agabazs fyambaenl 3ghmibnenm;
&) dfmds@-nmbob smoagbs Manba(ll)-nom.
a) Myaballl}-ob agsbaze 3aMmdsbasbsdnom.

s) 100H™ + 2Cr** + 3H,0, = 2Cr03™ + 8H,0

1 Jgame

d) 8BH* + 3Fe?* + Cr0F™ — 3Fe®* + Cr¥** + 4H,0

1 Jaoems

a) 8H" + 5Fe?* + Mn0; — 5Fe?* + Mn®* 4+ 4H.0

1 Jgoams

2.6. goOmmazammaom dfhmdal Babinfmo Gommn dgbawbmddn.

17.20 - 0.020 = 0.344 89m¢eno KMnO,
5:0.344 = 1.72 8dmero Fe?*

25-0.1 — 1.72 = 0.78 8dmgmo Fe?t

*% = 0.26 330 Cr 1.5 3-30
m(Cr) = 2.6 - 52.0 = 135.2 8 1500 83-30
w(Cr) = 9.013%

6 Jommo
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bEyEbGobymen:
&) 4fmmdol 3md3maydubsamogdn s ambnfo 8abgfn
dfmmdn Ggndmgde sfmbgdmdegb bbgamabbzs 206330b Mogbzoom. Jmmd(lll)-o0b nmbgdn famdmidbol
Afmnb-gmaognbadmdmmd(ll)-ab smd3madbl amnpnbs@oab, dowabBednm bamednm mnaeb-
oab. (H;N — CH, — C0O07).

2.7. asbsbgom a8 gmd3engdbob bEmmddnmomn oymmnms s domonogo Gobn ggmda@mng,

0
“Hil P i
iu",| o

NH2 —

aamdgdfmos: mddaamfn

bidmnddnmymn gmmdymms - 1 Jame, gamdGmns - 2 Jame, bym 3 Jams

2.8. MmsBnbn oosbiggfmomigmo  adal Gfmnb-amogobadmdmmad{lil)-ob  3md3egdlb.
aanmzamobfobym, mmd o8 gmddmgibdn ooommgpo omogsbol mmo gabbbzazgdaomn
@mbmMo s¢mdn s73b.

2 nab@afhgmagio: Fac, Mer,

2 Jyams

dmmdnb joeg3 gMmon ymd3gngdubagmonl gd3nfmoynmn gmfm8ymes Crll;Hi;04. 58 Bagmonb
0.533 3 goblLbgl 100 LE* Hyamdn, @osdaBgl 10 b8 sBmBBga3s (C = 2 M). Bnmgdgm blbsmb
wandadgl dofMmdn  gafmgboob  Bodmoednl J70830mmn  bBLbsfMn.,  fomdmddbnmn  Baggdn
30BN GMmIL, goodmab s sGmBIL: Mpyenyye = 0.287 3.

dgmfmg gdL3gfmodgb@&dn 1.06 3 nanzy 3md3gmgdbbagfoin 100°C-B) By aaabyfob. domadyomo
dMmmonddn 0.144 g-oom Bagmmadl ofmbnms.
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Lbidneabdnb smeen:

2.9. asfamgm o8 smB3mgdubsgmonl Ldmunddnfmnma amminms o6 bfnmo Gmmagnenmo
gmfmdyma, Mmdgmmne Bybdae sofahb ymddggdbbagfonl dnea @a gafg baggMmmb,

1 8mgmn CrCI3H1206-80 1 8moma Cl- gafng begafmdns.
Bamn gabyfmagdno 1 8man CrCI3H1206 goMmaail 2 Bmen H20-b.
dodabasdy oymmBymas:

[CrCI2(0OH2)4]Cl-2H20

4 Jaeme

AB,0, dgwaagbommdal 8dmby ofsafomn Bagfomb  odalb 330bgmol Gndob  smobdoemmanfmn
Lidfyd&amo.

EmfMmdamym 33n6yamdn 0% -nmbydn Fam8ma6nsb bsbygabdmamadnm (foc) monm sMmobdaamm
LdmmdEnmab. Badfhagemmomo mmhdmgdnb gfhmon 8aMagen n8qEgbace mmazarmabiabo A-nmbgdol

dogfmas  @ogezgommn. mddejefmagmo mmdmdol Babgzsfn 183@gblnmer @age37dmmos
LaBzsemgbEnsbn B-ombBadnom.

dgdfMmnbydnm 8306ymob gmmdnmsg AB;04-00 s o33l ngo3g sMnbdaemyfmn Sgbgfn, Mag
BefmBamnfm 33nbgenb, Geafmad A-ombadl nie30e mddeqgefmnmn mmdmagbol gfon dgmombigcen,
bmemm B-nmbydb - mi@dsqemmnmo mmBmadnl pfmoin 8amombacon s dadmagefmyenn mmdmgdob
afomn dgfzgen. dgbadasdabage, obgs miGegefmymn mmBmydolb babjzafio s Gadfmagefmymn
mfmdmgdab gfmon 83M3@an s e300,

mogabeyfmo gamob bdedamobegonb 16amangdol dywefgdom dabsdmmadamns a@anbaegl
bmfmbsmyfns oy dgofmbadymn d3nbamn. FeCrp04-oboznl sfabgdmol mfn  gsfosbdo:
Bmfmdsmmyfmn 83n6gann - FeTCr?Crl0,, ms ddfmnbydnmon 83n6gman - FePCrTCr?0,; smbndsbydn
 @s T Boglafmomgds dgbsdedobae midegefam s Gadfegemgm mmMmdmgdlb. 33nbymals
dqgdombagzadn damammo LB3nbol 84mbn 3md3madLadn LEsbommmfns Bmomdy anem]) - Eadsmn
b3nbab.

2.10. dgosbam 4338mo Amadamo d-mfmdodoemnb gabmmahzab bdads.
Crt Cr3t Fe?* Fe®*

™

___tzg ___tZg

4+ ——n T + 1+t F=4— %
4 o Lt HF G 4its

4 Jaams
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LAEIbGENb gmen:

2,11. aamanbyom Ma Gndob 33n0bgemns FeCr,04. s8obamznb gaBmm3amyom mngabopmo 3gmmnl

bdodomabagoob 963fMagns (LFSE) Fe?*-obs @s Crit-ob mMozg, midsgjofpmo s
dadfmagefygomn mMmdmgdol dj8mbagzedn Ag gfmognomdo. 878w gedmomzammgm
mogebenfn  gamob  LEsdomabegool  gbafgns  bmfmdsmafn s dgdmnbadnmn
d3nbgmmnbomznl. gonmzsmnbfnbym, mmd Ap = %.ﬂ.u.

Fe2+ o@magemymo mMmam:
3 2 9 6 3
3 Eﬂ‘ - EE‘&’: — Eﬁt —Ef.'lt = Eﬁt
4

Iﬁ.t - l.}ﬂu
24, = 0.2664,

Fe2+ mjdogefmymn mMdm:

2 3 B &
4;&0—23:10 =

2
E'&D == g'ﬂo = Eﬁo = 0.44,
Cr3+ &adMmagefmyemn mmdm:

2 2 4
228 — - A = ZA = 0.3564,
Cr3+ m3dogefmomn mMmdm:

2 6
3 gﬁ,:, = Ei‘lo = 1.2.{10

bmfmdsemyfmn 33nbyemn (FeTCrOCrO04): LFSE = 0.266 AD +2-1.2 A0 =2.666 AD
dgofmyBgdnmo 83n6gyann (FeOCrTCrO04): LFSE = 0.4A0 + 0.356 A0 +1.2 AD =1.956 AD
dadabacady, odal bm@mdsganfma d3nbyemab ymboyngnMmapns

7 James
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bEneabBNb Jmeen:

0dMBO6BY 3. 3030WITT@0 LOLOIFIONL I6IGBNS ©YH 33060VGN YOBIMO
(20%)

oagamads | 1 2 3 4 5 6 7 8 g 10 |11 |12 |13 |14 | bym

Jama 4 |4 |4 1 3 |3 (4 |8 2 3 1 1 |13 |3 44

a) 3Mmm3gban
dfmmagba afo-afon  86nd3bammasbo  Baemanmns  dgmfgaemn  mfmgsbamn  Begfmogdob

Lboboagbobomgnlb. Gbmamomdn @sskmmgdnon 50 8mb Gmbs  3Mm3gbn nfam8mads

ymagmbmoyma. sfmbydmol Mmedogbady gbs 3Mmm3nbol Lobmatnbs, afmo-gfMon 83omoens
agm4abob 8demgbn:

H,C = CH,(5) + HaC — CH = CH — CH3(5) = 2 H,C = CH — CH5(»)

mgfmimenbsdngnfn nbammbsgns dmygdamne gbfMmomdo:

AH ® [3x 8meno™  AH ° [3x Bmgno™ S° fx K 8mano™ C,° /x K 8menn!
1

qoba (s) 52.4 219.3 42.9
dn®-2-96n (s) 7.7 301.0 80.2
3fmm3ghbn (s) 204 -2058.0 266.8 64.3
3fm3abo () -2220.0

fysndagen —286.5

3.1. aodmozomym A H®, A,S5°, AG® o Ky, 298 K-T.

AHY = 2204 - 524+ 7.7 = =3,9 3 - Beagwo™!
AS°=2.266.8—219.3 - 301.0 = 13.3 % - dagmo™'K™!

AG® = =3900 — 298 - 13,3 = =7863 %  dagmo™! = =7.9 3% - dagro™!

ArG

Kp = e ®T =23.9

4 Jamms
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bEneabBNb Jmeen:

3Mmaddngsdn Maadins nomm Bsman Fg83gMaBnMmadbg doconl, 436 K-1q.

3.2. goOmozammao Masdaonl dgmgasce godmymanmmn boodm, fMmegbsg famdmnddbyds 1000 i3
3fmmanbn nbmosfmym 3nfmmonddn 436 K-Ha.

AC, =2-643-802-429=55% 8ngwo'K™!
AH®436 = ApH%0g + A,Cpy - (436 — 298) = —3141 % - 8oxgmo™!
Mitmagpo = 42.09 - Bmgmo™ = 1000 33 = 2.376 - 10* 8ergno

0.5-2.376 - 10* dmgmo - (—3141 % - dmeno™1) => 3.73 - 107]

4 dnma

Jmm3sbobl jadomotinfmn ginmMoMyds 3Mmagbol Gomgdnbl yogega ghon bgmhbos:
C3Hg(s) = C3Hg(5) + Ha (o)

3.3. aofmozammgo AH® s A U7 28 Myadgnobongol 298 K-1g.

C3H8 (5) + 502 3 CO2(s) +4 H20(ob) A cHienzsbo

3 CO2(s) + 4 H20({mb) = C3H6(s) + 4.5 02 = AcHe 00
H20 (ob) & H2(s) + % 02 (3) - A Hyy 0

C3HB(s)=> C3HB(a)+ H2(s) AH

AH® = —2220 + 2058 + 286.5 = 124.5 3% - deagmo ™!
AU° = AH® — AnRT = 122 3 - dmgno™!

4 dnemas
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Lbidneabdnb smeen:
&) 3Mmm3g6o — smammnfMmo bobdgdgdo

dfMmagbal Bmbsfnmgménom Bodwobafy Mgadingdol emmb bdoMe Homdmoddbyds bmendyg
fMosdeonbnbafmnabn  aymfMdgdn, mmdmadog Jodonfmn  o8ob  ogmfool  gedmbabyenesb
Lbanb&gmgbma. gb gymfdgdns: smomob adombao, semogob sbombo s sgmoemol Maengammn,

/\+ /\— e

Lbafngg agmmBal g3zl dMmGEYgmn Babdombsmmazsbn Ambhbo @s gMmombonfn © Bmmgynomfmo
mfmdnBemmgdn, MmBmgdng donigmal Sosbenmadol badnmabno dandegds gadmamaagnmb,

H/, wH
FC—C
H” " 2 >C—H
H 3
@, = 0.500x; + 0.707y; + 0.500%; Ey=a+ 1414
@ = 0.707%; — 0.707 x4 E;=7
Pz = 0.500%; — 0.707y%; + 0.500%5 Es=a—1414p

3.4. 8mbndbyom Babdomdaonl sEmBagdal IndMmonbaios Bmzadne hmbRbdn,

O sp O sp? (%) O sp? O sp*d® [ baBn3g goblbzszgdmmos

3.5. hofiafmgo m gmgddmmbgdolb Mamogbmds badozg ammdnl g8mbzgzadn.

gmmdym.s N N 2
2 4 3

7 gmyd@&mmbgdob
Mamegbmbs

1 Jagms 1 daemea 1 3ams

3.6. hofoMmgo geBmndazn g356dadnl Mamegbmds o Gmmygmonfm mmdoGsegddo.

3306d300 | @ | ®2 ] ®3
fmammabmda 0 1 2
1 gneme 1 Jome 1 Jaeme
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bGnEab&nb gmeen:

3.7. haofiamyom Ex-ob (p2-nb gbafaos) as@mbabpmgda. gabsmaglgom Ey, E;, E; @ 3aMmadydmo
ma3obn Bodbom (pamgdnomn 36 yafmymanomn) J3g8maon Bmizgdnom mosgfmabaty.

E;=a E

b

4 fnems

babdoMmbaaBmindol GnbEo s ddol Mmoagn dgbadmadaemns gaBmoomzammb Bmemainmyio
mfmdndamgdnl gedmbsbyongdgdoosb:

occ
qj=1- Znicﬁ

=1
o

les = Z NjCipCig

i=1

x2m gobanbrgnmo Babdnmbaeadmdgdnb 8nbdo ndnbamanl, Mm@ 36sbmm, dgabedadyds oy afms
dmemggamamo mmdndsmadnl cngmfmnnl gacnzamobfobidom gadmomzmamn Gxbdadn myobiob
LidfmddEnfgdl.

3.8. aoOmm3zamam gy, Q2. 4 BobdnfMmdeeasdmdgdtby: C1, C2, C3.

a) senngmob jodnmboboanb:
dbmenme @4-> 3233070 2 JmydEmmboo

q; =1-2-(0.500)2 =0.5
g, =1-2-(0.707)? = 0.0003 = 0
Q3 =q; =05
2 Joams
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bEneabBNb Jmeen:

0) afigmaom agmomob adombol 8abmadgfmmemo Matmbablmmn bLEmMdEMydo:
%“-\\+ . ‘_’,-"""'-.::‘\.\H

1 43emas

8) 83bmagfpao bBMmIGIMIdb BabBHade @ gedmmamoman qy, qz, g3t
L] [¥) 3gqbadabads amodabyol ] of @ggbadadgde gmodsbyomb

1 dnems

@) aemnmnb sBombabogols:
Py @3 @y oMb ©s353000m0 2-2 JmyJémmbaon.
q; =1-(2-(0.500)* + 2-(0.707)* = -0.5
q:=1-2:(0.707)* =20 =0.0003 =0
Q3 =q; = —0.5
2 Jnma

3) afamao semoennl sbombols 83Bmagmnemn Mgbmbablnma bdfmnddafmado:
:'/"“'\‘qx-‘.

)

e

AN

<

1 daemas

3) 8gbmB8yfneo LBMmaddEnmdal 8abBado @ gedmmamomn q;, qz, qs:
[ (%) 8ggbadadgds gmmBsbgol [ s 3ggbadadyds gmmdsbyomb

1 g9ema
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LGEIbGL ymeo:
gubznbommo semnmmol Magen jawmn:

/\.

3.9. aoOmomzammgom ddob fMogado: 1z s 1o, soneols fMaeogsmmobogols,

(P, a333307m0s mmo gmyd@mmboom g, — gMomoo.

liz =2-(0.500) - (0.707) + 1 - (0.707) - 0 = 0.707

I3 = 2 - (0.707) - (0.500) + 1 - (0) - (=0.707) = 0.707

2 Fams

a) dajbaBMmogban

macnbyfmo bodyss conjugare bodbazl agegzdofmgdaly, Goamofmgdnl dodgbab, magjmmfnbydab...
s Mmgmmg Rablb, m gemad@mmbgol mbimboy gb. Jgjlbadifmngbo afmol agnimmafmao Lbob@gds,

fmdgeog 1 Bmenginaoafmo mfhdodGamgdol dgnmeadal Gqbfogzmal badynemgdel deMmBEngece
ndmaga. gayaznom doyaaenl Snsbemmydals:

2 4 &
ANANF
1 3 5

3.10. hofamaom dgbadadnbn 86nd3bBymmdgdn:
athyminfn p-mMmondamgdob xsdnmo Mogbsna: | =

ool nsbiemmgdnbamaznl MamgzabBafmo mfmdoGamadol
fmopbgns:

fomdmqdbnena it dmemamemyfn mfmooBamdol Mamegbmdas: | 6

b 3 Jaeme
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bEneabBNb Jmeen:

dmpagdamns dgdbadfmngbol i dmmginmmafmo mmdodemmgdol Bacgdedngafmn godmbabinemads:

@, = 0.521x, — 0.232), — 0.418)5 + 0.418y, + 0.232s — 0.521y,
@y = 0.418y; + 0.521), + 0.232)3 — 0.232x, — 0.521ys — 0.418y,
©e = 0.232%, — 0.418y, + 0.521y5 — 0.521y, + 0418y — 0.232y,

3.11. fMmmdge dF3Mmn3dns eamagadaemn mmdodasmmada 76aMannl Bfheob dobyegnom?
0 @4, @u, @c O @p, Pe, @a O @, @b, @a 03 (X) @b, @ar ¢

1 Jame

dmpgdgmnas m dmengmonmin mfmdodamgdnb ghamnimomn gadmbabyomgdgdn:

3.12. dgaboedalades o ofms dmmainmmafn mmdodGasmdol deompdadngafmo godmbabnemgds
dmggdom  agMmomngaam  goBmbobymodslb. oy ook, dgpbadedgo  Gmanginomamn
MAd0GId0 Py, P, Pe)-

A Bggboadadgds B Aqbodadds C dqgbadadgda Pa-b

1 James

3.13. hsfinfMmgo geBomndanmo 4306dgdnl Mameegbmbds m dmemginmmnd mmdndsmgddo.
Al 2 B: 0 C: 3

1 Jaams

3.14. sbstigm yzgmatby Bamaeann 763Maonl 8dmbg 1 Bmepsneyfn mmdndemmob afMeoo o
gadmbosbnongds 3adbsdfmngbobozob.

3 dnma
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LBIEIEGHAb gmEe:
03MBO6Y 4. LOGIBVOHMBILGHBO6 A (20%)

4.1 4.2 4.3 4.4 4.5 4.6 4.7 by

darmGnob Bozolb bobmzem mfmdmamsb 2008 §amb oBmmafmadnmn adbs Medegbods Bagfmon,
mm8gmaoag oh376al LanbBgfMmgbm sEHndsddaMmonmo sddngmds  [1]. bbgomabbzs bdgldfmm-
Lbim3nen dgomeeadol bogyndigemtby LEMIIGmMegBsbnb A-Lborzol dgdmomoezstbgdamn ndba
LEmnd&uma 1, oydps s3emg3ol 3ofmggm bamna®y azafmeomo yadaob bgmamdndool cawanbs
37 Bmbgfmbos. Bbmmme 2011 fymb bbzs bedgabagfm xanmol dogfm BadafMmadnma 33mmg3ob
Lseyndagmtby dgbadmgdgenn ndbs dobo BnbEn bEMYIEIMHNMmo ammanmol asbbatbmafms
Lidfmddmfa 2.

OH CO,Me
MeOOC HO /\/J\

M M
- -
i =
N M
COOMe COOCMe
1 2

LinMyaEmagbabobol dapamn dommmgonfmo sjdonfmmbol gedm, bobogbol LEMaBgans
dqgdndezadnmo ndbs bLEMNIEAMS 1 -ngabsi 30, o8 FgomeEmemgnnl msbabibage, Bagfon 4-nb
396 Bab-1-mmdo  bbbafinl bLaboo gda@gdmeas 280bl 3 jamopmbol gofmdmbadolb (3 g9d3.)
msbBomdabal s bafMmgadgom bafmgsl agbomabebyb dogmo @onb aebdsgemmbedn 150 °C-hy
(bdads 4-1). Lofmgediom Bofgal spozgdab momsbaob Goddafmodnmeleg @s dMmoen]dob
b madinaly sbegbab fymmnabo c3abBngeb 2M Badfmondob Gndob bbbsfmoo. qjudmaeddb d780aa
afnBaggdab 2M Bafomdgazel blbsfmno pH 4-O@g. Bagfmomn 5 goedmnymozs bamngdol baboom,
@nmEmegab s sdmmdgh.

HOOC
NaBH
C5H110H MNaOEt
+ 4 - 5 - § + 7
150°C EtOH
HzN C;H4CINO, CisHiN2Os C1sH1gN204
MesSiCHN; | MeOH
OH 0°C
MeOOC A
" 3 LIHMDS
= . 8+ 9
z THF
N -78°C Cq7H14N204
COOMe
1a 1b

Ufqds 4-1. bifmymdmezgbatod A (1) boboytiol a¥s
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bEneabBNb Jmeen:

4.1. sfamgo BagfMmongdnb 4 s 5 LMmnddnmaoma ammdnamgdn, o1y gbmdomas, Mmd
a. Bagfmomo 4-0b H - 386 L377&m0 dmogazh mm ENBEIAL s 7Moo GMndmadl 7.80-8.50 8§
enadabmbdn @a gfmo Lnbgemgdl 12.3 8% Myaombdo.
b. Bsgfon  5-ob  Hysrmdn Sgbonenmer  obbbgds, odegds O30 BLBsML @
Byo@Mmamobagoobacmzol badafmas 2 3d3. badfmondol &ndob blbafn,

HOOC
0.. _OH
NO, A
cl |/,
N
NO5 HOOC
2 Faeme 2 Jnems
a4 5

Bagfmool 5 smeagbnon gojomobagool Mgedjgoom doomads Bagfmogdnb 6 ms 7 Bafgan 3:1
masbagafmoemdno. Gomgdnem Bafmgsl danfmazab dpofmg Mam@gbmbdnom Agmebmeb s si3nzg006
0°C-8geg, d38wm)a 40 mobnmage sdathydgb 357babdn gablibogm 4 5d3. MesSICHN:-b. afnon basonl
dgomga Lofmgedaom BofMgznwsb 3Mmenddl gedmumemab gomnom@afmoom, Mmdmmol bygdnmo
dhmdsdmafmoemnnm maymanom Gonmgde Bagfmogdn 8 (52%) s 9 (16%). mfngg bagMmob 93l
afmmngesngnzg dmengsnenamo amfmdnms (Ci7H1aN:Ck). 8son *H- s C d8M b3gd&Mmgdn dmogagl
d78cona0 babob Loabammadl:

Bogfacn 8: 'H-8dM(500 MHz, CDCls): 8.38 (dd, J = 9.0, 1.5 Hz, 1H), 8.26 (dd, J = 8.5, 1.5 Hz, 1H), 8.24
(dd, J =7.0, 1.5 Hz, 1H), 7.85-7.81 (m, 2H), 7.78 (d, ) = 7.0 Hz, 1H), 4.40 (s, 2H), 4.11 (s, 3H),
3.71 (s, 3H)
13C-38M(125 MHz, CDCl3): 172.2, 167.1, 143.7, 142.2, 142.1, 140.9, 133.9 (2C), 132.1, 131.3
(2€), 130.7,129.9, 128.8, 52.7, 52.1, 36.5

Bagfma 9: 'H-886M (500 MHz, CDCls): 8.37 (dd, J = 9.0, 1.5 Hz, 1H), 8.23-8.20 (m, 3H), 7.85 (dd, 1 = 9.0,
7.0 Hz, 1H), 7.83 (dd, ] = 8.0, 2.0 Hz, 1H), 4.11 (s, 3H), 3.93 (s, 2H), 3.75 (s, 3H)

13C-NMR (125 MHz, CDCl3): 170.9, 167.1, 143.5, 142.8, 142.6, 141.2, 137.4, 133.4, 133.2,
132.0, 131.6, 130.1, 129.6, 125.0, 52.7,52.4,41.4

4.2. asfigfmgm bagMmaongdnb 6-9 bEfmndEnmamo gmmdgamgdn:

HCIG'C\I
0 seo!
., L COOH
N,f s = N P
COOH COOH
2 gy 2 Joame
6 7
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Lbneab@ob smon:

byan 4 Joems

Mmaadionl dmenm bagyabnfmbg bagfmol 8 a8adadgb LIHMDS-b s Bagfmob A. fmgadponb dgbadadolin
dfmmzgonmgdob gebbmMmngmmgdob dadegg IMmenddn gelmaymas mfmn bi#gmgntmdgmob 1a @

1b babnom.

4.4. sfafmgm Bagmonnb A bEMaddnmaomn agmmbyma:

4.5. ssmanbyo sdlbmommdmfmn ymbmngnmagngdn Bagmomaddn 1a o 1b.

OH
MeOOC

] MeOOC,,,

OH
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Ldneabdnb ymon:

96sbEnmdgMmammace denwafmo Bagfmonb 2 bnbogbol gbs Gmeadnmmns bdgds 4-2-H9.

B
MgCl,
n-Buli 9 0 Et;N
THF Ph_ ./  AcOEL25°C
12
13
T Me : CO;Me LiOH, H,0
i L ; HOW . THF, H,0
! ME-E‘IH'C-E : "M 0°C
! Me : M
[ 0 T
! Tmscl ! ) ?
g et i e 5 M - CaaHagN20g
COMe 14
2
bfyds 4-2. 96368 nmdgmmensm denesfmn baygfmoab 2 babarybob 3t
4.6. @shafmgm Bagmomagdiol 10, 11 s B LgMhnd&afmnmn gofmdyagdn:
O )
\[/\/\)I\CJ Y\/\)LGH
sb
5 (]
HN ’1(0
O Ph'\-\-..\_\.*'.L-‘-‘J,
5 2 Jamea
mabadzgdns 10 s 11 bagmomydob agnmols
56 da@3ems
2 o 1

Q H
( I”%
S
s
N
CO.Me
2 dnma
B 14
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bidneabdnb smoen:

4.7. s Mmy0a363(a0)ab badnsangdnm d3ndmgds 14-sb Bagfmomn 2-0b Bnmgds?

AcCl+ MeOH

1 damea

abigag w@absdzgdos bbzs Mosaabidgdob gedmygbade
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biSnEabAnb men:

03(MBd6Y 5. IVIOG03DI60 (22%)

5.1 5.2 [ 5.3 5.4 5.5 5.6 lsgem

2 4 \ 15 4 2 6 i3

Jmadfnd@debn 1 ofal 5-HT fmgeaddmmadolb  bammadeoanfo sambobdo, Mmdgemng 2002 §ammb
wabtingos dgmngadabfee dygfmogdnm dBednddn ©s gaBmoygbgbe dugngol badynmbsmmmeo.
dobn  LoboaBolb y3zgmeby IMed@osnon Sgomen  emndBadnmas  nbememob  @sodafol
Lnbongtthg, Mmdgeng dmopesl sademol 2 s IneMmabobol 3 nhongmodByeadsl (bdgds 5-1)
[1].

bdqds 5-1. pmdfn3dabnl boboybol bsfsmamm dyomen

5.1. dmbabgm gmmadfmoddebdn 1 bBgMmgmagbafmo gabdMmn s Gogonogo abo sébmomydafn
Jmbangnfmagns.

Ma\

O g

5]

L \.N_

PhSO .
2\/\@ PhO,S %Q

2 \/ﬁ
H ‘@

N
: H

3163Mob AmbBabas - 1 Jame, smbxmngaMmains - 1 dame = bne 2 Jaams

gmadfnd@debol  Lobogbol  agfc-gfmo bogzadm  Bogfmomb  HefmBmomaabl  Mogadednmn
Jnfammaeabol bafafmdn 10b, Mmdemol Lobomgbn dmEadamns bdqds 5-2-%7.

a)demob 4, comemnba 5 (1.5 933.) o Ha504-b (1 543.) bafmgsl 16 bosoob gobdazmmbadn aoymgl
n4mBapnafmolb moabamdobial s dp8ega geopniglh 4 "C-8g s masbadab Husmo. domgdremn
Bafganeeb mfixam  RBosdefgl gdbdMmaedpne  dgbsd.-dndnem  Gqomomol gogfoo;m  (TBME),
adudfmaddadn gesgmomnsbl es mfygfm aafaebal fumom. da8ceaa dmagnmmab mMasbnomo aabs
s godmadmal nfyrnm Mgs0s-no. 3a4m183n gadbbbamabl gedmamno jmenbdsdo BafmPgbol baboom
Bagfaoin 6. a8 730bsl3bgmmol THF-8n (Hadfmadoommaymaebdn) goblbboom ©s PEL-ob THF-dn 1 M
bBLbbafmnl (1.5 743) wedaBodam @s 65 “C-hg 48 bosonb gobfazmmbedn gogbymadoom Snnmads
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bbb gmen:

Bagfmon 7, Mmdamog obeognenesemyfn bobom dgndmgds gedmymb gedblbammnl 304m08dn

amfmodemadnom (bdgds 5-2).

G
N O
Wt
H,SO
EtO.-OEt e, Ma Ph-CH; PEL, 8
T s .. S SN
THF
Br OH OH 8%
4 5 Hs, 7 atm
PhIC (cat)
EtOH, 70°C
%, _COOH
H O\ _Me COOH HOJG
@J—( . /|r (£)-10
o Me
HOoOC MeOH
(£}-10b Et0A:
Hs, T atm
Ph/C (cat)
5 EIOH, 70°C
Cl NH /j
*  cbzcl col Eng/\‘)\G
EtyN
12 13 - 14
OF koHM,0 HN(OMe)Me
o Ph-CH, CHyCl;
11
enee e
9 :
Ak NN oA
Ph (o] Ci L-:'JI L—;_-.:/N :
ChbsCl col
bfyds 5-2.
5.2. @sfgfgo Bagmogdab 6 s 7 bBMyddnfmnme ggmm8nagbdo:

O
B © Me
2 Jooma

6

0 Me
/_<O:>< Me

Et3|‘:"
2 dqma
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bEneabBNb Jmeen:

5.3. asfamgo BagfMmonb 6 Gofmdmdabol bagsfmancem dadsbnbdn:

EtO.__OEt ‘0 :l:-!' EtOH 3 'ﬂ
J’ H0 o J’u‘a L e Et—'”j’?

Br Br 0 Br ':E
OH

5 ﬂ

o Cos 205

i ) DPEN y o DR = "
o Me —H* 0 Me Br Me -EtOH B Me
Me H'+> e /T Me i Me
6 : OH OH
by 15 Jyme
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bEneabBNb Jmeen:

Bagfmool 7 cendgomnmeymmbsdonedn blbasmb mesbedal semeegdncenl 8 (1 gd3) s 1.1 gd3. EtONa-
ol bBbBsfn gonsbmemdn, bafmgsdpom Bafmazn goopbgmal 3 basonl gebdszmmbedn 80°C-0mg @o
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